1. My preferences are Cobb-Douglas. Currently my MRS = 3 and the price ratio = 4. What can I do to make

myself happier? Assume that my current consumption bundle is on the budget constraint.

a. Consume more of both goods

b. Consume less of good 2 and more of good 1
@ Consume more of good 2 and less of good 1

d. Nothing; utility is already maximized

e. Consume all of good 1
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2. Assume the following is true about a single utility function:

X |Y [U&y)
Which of the following is false?
3 0 9 Y Aol /
a. X is a monotonic good for values between 1 and 3 % v

2 0 4 b. Y is a monotonic good for values between 1 and 3 T = ot v
1 0 ] C. X has increasing marginal utility for values between 1 and 3 x1=my,) /

(CF A Y has decreasing marginal utility for values between 1 and 3y1= My =
0 0 0 .. None of the above
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3. UGk %) =2x,
Assume prices and income are unknown, but are all positive numbers. Which of the following is the

demand function for x,?
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d. Not enough information
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4. Which of the following is not a monotonic transformation of U(x;, X;) = - 2X;X,?
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5. Atthe point (4, 4), my MRS is — 1/2. Determine how I would rank the bundles (4, 4) and (7, 3).

a. Assume my IDC’s have a strictly diminishing MRS
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6. My utility is equal at the points (3, 5) and (1, 8). My IDC’s are L-shaped.
a. Write one point that brings more utility than (3, 5) and (1, 8) and one point that brings less utility

than (3, 5) and (1, 8) .
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b. Write a utility function that describes my preferences (there are many possible answers here)
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7. My utility is equal at the points (3, 5) and (1, 8). My IDC’s are linear.

a. Write one point that brings more utility than (3, 5) and (1, 8) and one point that brings less utility
v Egood vy = (3,5) and (LY)

than (3, 5) and (1, 8)
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b. Write a utility function that describes my preferences (there are many possible answers here)
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8. For parts a and b, assume p; =4, p, =0.5, and m = 12. ,
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9. Sketch indifference curves such that x; and x, are both bads.
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10. Sketch indifference curves such that x; is a bad and x; is a good.
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11. Sketch indifference curves such that x, is a good and x; is a bad.
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12. U(x;, x2) =x;X>  Sketch the indifference curve where U =8
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13. For each of the following demand functions, put a “check” if the category applies and an “x” if it
does not apply. (Specify if your answer is affected by the level of income and prices
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